Total Pages—16 UG/II/A & EC/Gen/XII/16(Old)

2016
AUDITINGAND ELEMENTS OF COSTING
[ General-]
PAPER — XII
Full Marks : 100

Time : 3 hours
The figures in the right-hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

[OLDSYLLABUS]
GROUP — A
( Auditing )
[ Marks : 45 ]
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(2)

Answer any fwo questions : 3x2

(a) Write down three differences between
statutory and non-statutory audit.

() What is errors of principle ? Explain with an
example.

(¢) Difference between routine checking and test
checking.

(d) What do you mean by professionai
misconduct ? Give one example of professional
misconduct.

Answer any three questions : g§x3

(@) What is meant by continuous audit 7 To what
type of business is it specially applicable ?
State the advantages of such an audit. 2+ 3 +3

(b) Write short notes on : 4+4
(i) Audit Note Book
(i) AuditFile.

() In a manufacturing business concern
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employing large humbér of emploYees, what -
system of Internal check would you recommend
to prevent fraud in connection with wages? 8

(d) Mention procedures of valuation and
verification of

(i) Freehold property
(i) Leasehold Property. 8

(e) What is Internal Audit? What are the
advantages of this Audit ? Also write down

it's disadvantages. 2+3+3

() - What are the duty of a Auditor in regard to
Cost-Audit. N 8
3. Answer any one question : 15x1

(@) (i) Write down procedures of vouching of
the payment side of the Cash Book. (at
least four items)

,(ii-) Write down about vouching of Petty
Cash Book, Purchase Day Book, Sales
Books, Bills Receivables Book. 8+7
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(4)

(b) Discuss the qualifications of an auditor
according to the Chartered Accountants Act,

1949. Discuss the statutory rights of an

auditor. g§+7
GROUP —B
( Elements of Costing )
[ Marks : 45 ]
Answer any fwo questions : Ix2

(a) Define cost unit and cost centre.

(b) What do you mean by variable overhead ?

(c)r What do you mean ABC Analysis ?

(d) Write down difference between Unit costing
and Job costing.

Answer any three questions: g§x3

(a) What are the objectives of Cost Accounting ?

State two limitations of Cost Accounting,.
6+2
(b) The following are the particulars of receipts
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and issues of a material in a factory during
the month of December, 2015 :

Date Receipts  Price per Issues Units
Units Unit
01.12.2015 2,000 Rs.5-00 -
06.12.2015 1,000 = Rs.6-00 —

11.12.2015 = -~ = — 2,500
15.12.2015 2,000 Rs.7-00 -
31.12.2015 - - 2,200

On 31.12.2015 a shortage of 100 units was
found. Find the value of issues and resulting
stock on different dates using LIFO method
of pricing. 8

(c) What are the merits and demerits of
centralised Store and Decentralised Stores. 8

(d) Mr. B, a worker takes 80 hours to do a job
for which the time allowed is 100 hours. His
daily rate is Rs.20 per hour. Calculate the
works cost of the job under the following
methods of payments of wages : 8
(/) HalseyPlan '

(ii) Rowan Plan
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Additional information :
(D) Material cost Rs.8,000

(II) Factory overhead- 125% of wages.

(¢) What are 'over absorption' and 'under
absorption’ of 'factory overhead' ? Mention
the causes of over and under absorption.
How are over absorption and under
absorption of overhead treated in cost
accounts ? 8

() A product passes through three processes to
completion. In January, 2016 the costs of

production were given as given below : 8
Process-I Process-11 Process-1IT
Direct Matcrials Rs.4,000 Rs.6,040 Rs.6,924
Wages Rs.7,000 Rs.8,452 Rs.10,000
Production Overhead Rs.3,000 Rs.4,000 Rs.5,000
2000 units were issued to
Process-I @Rs.S each
Normal loss 10% 5% 10%
Wastages realises Rs.3 perunit Rs.5 per unit Rs.6 pet unit
Actual production 1,840 Units 1,740 Units 1,600 Units
Prepare Process-1, Process-1I and Process-IIT
accounts.
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6. Answer any one question : . 15x%1

(a) The following partii:ulars have been extracted
from the accounts of X company for the year

ended 31st December, 2015 :

Rs.
Opening stock of Raw Materials  1,00,000
Raw Materials purchased 24,00,000
Carriage on Raw Materials 1,20,000

Wages of manual and machine-
labour for manufacturing 14,00,000
Works overhead expenses - 3,92,000
Establishment and General charges  2,98,340
Closing stock of Raw Materials 1,50,000

Find out Works Cost, Total Cost, the
percentage of works overhead cost to wages
and percentage of establishment and general
charges to works cost.

Work out what price the company should
quote for the product, which, it is estimated,
will require an expenditure of Rs.22,000 in
raw materials and Rs.16,000 in wages, so
that it would yield profit at 25% on the to}z(l)l.+ :
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(b) Somnath Ltd. Produces a standard article
through three successive processes. The
following data relate to October, 2013.
Prepare Process Accounts, each showing
unit cost. The output produced in October,
2013 is 200 units.

Process-I Process-Il Process-III

) ) )
Material Consumed 20,000 8,000 3,600
Wages booked 16,000 28,000 18,000
Other direct Charges 4,000 10,000 5,000

Overhead amounts Z 15,500 for the period.
Overhead is recovered on the basis of direct
wages. 15
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(%) The following are the particulars of receipts
and issues of a material in a factory during
the month of December, 2015 :

Date Receipts Price per Issues Units
Units Unit

$1.12.2015 2,000 Rs.5-00 —
06.12.2015 1,000 Rs.6-00 -

11.12.2015 - - 2,500
15.12.2015 2,000 Rs.7-00 -
31.12.2015 - - 2,200

On 31.12.2015 a shortage of 100 units was
found. Find the value of issues and resulting
stock on different dates using LIFO method

of pricing. | ¥
(1) ‘wohgE TgTeeR’ «% REPETS T’
a7 IR @32 ey =% 2 v

UG/AT/A& EC/Gen/XI/16(01d) ( Continued )



(13)

(§) Mr. B, a worker takes 80 hours to do a job for
' which the time allowed is 100 hours. His
daily rate is Rs.20 per hour. Calculate the
works cost of the job under the following
methods of payments of wages : 14
(i) Halsey Plan
(ii) Rowan Plan
Additional information :

(I) Material cost Rs.8,000
(I]) Factory overhead -'125% of wages.
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(5) A product passes through three processes to

completion. In January, 2016 the costs of
production were given as given below :
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Process-1 Process-11 Process-III
Direct Materials Rs.4,000 Rs.6,040 Rs.6,924
Wages Rs.7,000 Rs.8.452 Rs.10,000
Production Overhead Rs.3,000 Rs.4,000 Rs.5,000
2000 units were issued to
Process-I @Rs.S each
Normal loss 16% 5% 10%
Wastages rezlises Rs.3 perunit Rs.5 per unit Rs.6 per unit
Actual production 1,840 Units 1,740 Units 1,600 Units

Prepare Process-I, Process-IT-and Process-III

accounts.
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2 X3

(¥) The following particularé have been extracted
_ from the accounts of X company for the year
 ended 31st December, 2015 :

Opening stock of Raw Materials

Raw Materials purchased
Carriage on Raw Materials
Wages of manual and machine-
labour for manufacturing
Works overhead expenses

Rs.

1,00,000

24,00,000

Establishment and General charges
Closing stock of Raw Materials
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1,20,000

14,00,000
3,92,000
2,98,340
1,50,000
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Find out Works Cost, Total Cost, the
percentage of works overhead cost to wages
and percentage of establishment and general
charges to works cost.

Work out what price the company should
quote for the product, which, it is estimated,
will require an expenditure of Rs.22,000 in
raw materials and Rs.16,000 in wages, so
that it would yield profit at 25% on the
total. Yo+ ¢
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Best Tfker 00 units.
Process-1  Process-II lProcess‘-III
® ®  ®
Material Consumed 20,000 . 8,000 3,000
Wages booked 16,000 28,000 18,000
Other direct Charges 4,000 10,000 5,000
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15,500 51®@ overhead &1 <A W A
o+ | Direct wage <@ %@ R 3@ over-
head recovered I AR | ¢
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